Complete par I'écriture a virgule.

245,24+10=

14,26+0,01=
412,42+100=
2 31+0,01=
1

412,35+ =

100
0,1214+— =

10

21.41+10=

125+100=

24,21+100=

1 —

0,32+ =
100

100,104+— =
100
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Je m’entraine a ajouter

1
10 100

14,32+0,1=

6,2+0,01=

4,314— =
100

412,35+100=

0,4214+— =
100

42 241+1=
21214~ =
10
0,12+1=
12+~ =
10
0,24+100=

41+i =
100

Compléte par I'écriture a virgule.
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412,42+100=
2.31+0,01=
1

412,35+ =

100
0,1214— =

10

21.41+10=

125+100=

24,21+100=

1 —

0,32+ =
100

100,104+— =
100
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Je m’entraine a ajouter
1001010,10,01
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14,32+0,1=

6,2+0,01=

4,314— =
100

412,35+100=

0,4214+— =

100
42 241+1=
21214+~ =

10
0,12+1=
12+i =

10

0,24+100=

41+L =
100
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